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swer: 3)

Answer: 3) i

Assign & forg T utRenfies <ree gt & 2

1

AT
[

swer: 4) TgUl AT

Answer: 1) fad &=AT

SIRITE’ 27&g AT faRivor 8-

swer: 2)  SmRAd

Answer: 2) 3RMRAT

ToTaTeh farRINOT ST ISTER0T 8-
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T UHT HGTaRT ol 31 §-

m

r
T

swer: 3) hie GETT

Answer: 3) Shie ETT
8 § I T TR SIYG &

T §aIT?

ol Qeh Tl 81

Tl

B graf w7g At

swer: 4) 3IY &3 U gruf< g1 et

Answer: 1) 34d 1S T §31T?

1-faRA et Y Grier & FaTiRid Gerart H gHA Sl S 81 o 3R § @ifchd e i 91 Uead g

swer: 1) fa=ivor uesy

Answer: 1) fa=ior UgEy
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7 feram

ST g1 fomar mam|

oo e forar i

EEGT!

swer: 3) I gRT Ao R forar mam|

Answer: 3) I gRT o o ferar mam|

9 H i 91 a1 UG

ST S&T 37U I J AST Y St Gy gl &, ad B
AR G A

forgm Y 7 ot g

T AT H 872

swer: 4) 39 fohdTa o1 T 70 87

Answer: 4) 39 fhdTdl &1 RIT Je 87

3Tsc; T 37 e A dTett 2Tk 8-

swer: 2) ST Qifh

Answer: 2) <1< b

3caH g 31 I GERT ATH T 872
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e
swer: 3) @fy

Answer: 3) @

ST T <t A T T o farg et e fafer =)
el 3G 9t fore aroft gear s ol Sea dfs d SR &

swer: 3) faamaAr

Answer: 3) faamaAr

37ciehTR ahl chied h ‘AT foha gl & 2

au“—‘b%

swer: 2) SR CUSt or 4) SR THg

Answer: 2) 3T gUst

A9 7 @ I - 9T TS IHARR T IEI0T & -

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap

Adda

24

ig; - T At |

ST A€ AT d%eR dg 9Tg|
T heR T foh I YA TE BT |
STT-3T h IR FI

swer: 1) #3718 df 9 - el gt |

Answer: 1) #a1# af I - &A= gt |

Hied § TE€E A SIPR 8 -

g gl
swer: 2) ¥Uch

Answer: 2) &Uad

g et el SIR-8 ATl hdR 8, foh S8 ¢t 718 &
98T 3TeiehR 8-

swer: 2) 3Id3jer

Answer: 2) I3l

et SaTeTT STerdt &, Se 81T T ST T |
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swer: 4) faRtemamg

Answer: 4) faRtemmg

Bf urg o1 anfedan a7ef R g 872

AT
g e
EEH
swer: 3) al fdehed Tgt 8

Answer: 3) &l fdsey T8l 8

TffEd it & -9 aftfes 8w 82
g hig 1 7 1 e, Jad1 I 9S T I1fe ifey {1 &1

swer: 3) &fa<

Answer: 2) U

3T 70T ST TANT fohg 7 | glaT 872
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swer: 3) dR™

Answer: 3) dR™

Tk T hl WY 919 R/ 87

swer: 3) W

Answer: 3) ¥

Is 1" a composite number ?

e = g ?

these

swer: 2) No
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The HCF of 420 and 272 is ..........

)T HoTo ............. BHT

swer: 4) 4

Answer: 4) 4

Zvery positive odd integer is in the form, of ......... where q is an integer

f foww quifes a1 @ i, ........ T8l q Ueh Quiieh @ |

swer: 1) 2qg+1

Answer: 1) 2q+1

B are the zeroes of the polynomial f(x)=ax*+bx+c
2 value of a—13+§ will be:

[ Flal— e vl n o D o A R 2k aF Loy L
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swer: 2)

Answer: 2)

If x = 1 for equation 2x-3y=14 then the value of y will be :

3y=14 7 afg x = 1 g @t y oI 719 T gR1T ?

swer: 3) -4

Answer: 3) -4
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swer: 1) (0,2)

Answer: 1) (0,2)

. Sx
ean of first x natural numbers is = then x=:......

T VIpd T pTATH = x =.......

swer: 4) 9

Answer: 4) 9

f one roots of the equation ax?+bx+c=0 is three times the other, then

HIehRoT ax?+bx+c=0 T Geh Il GO T oI T[0T &1

ac

«Q
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LaeofJEm—l—\fEm—HxEm—i—---... is......
6+6+ .. BIHM ... ST

swer: 2) 3

Answer: 2) 3

What amount will become Rs.650 at the end of 1st year and Rs.676 at the end of 2nd year
1d interest annually?

S STST Y -8t AfA 1 g & 3id # T 650 qU1 2 g & 3id H T 676 g SMQH...

swer: 4) 625%o0

Answer: 4) 625 %o
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EE
g

swer: 2) 3dY

Answer: 2) 3d¥

Find a point on y-axis which is equidistant from points A (6,5) and B (-4,3)

Qa1 faeg 7t famgaff A (6,5) iR B (-4,3) @ THGRRI & ........ 81

swer: 2) (0,9)

Answer: 2) (0,9)

If R=(a,b) is a point on the line joining the points P(0,0) and Q(0,2) then which of the
true.

0) 3R Q=(0,2) @l AeAareft :@1 ;R R=(a,b) &, dt F=fafa A s a8 |
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swer: 1) a=0

Answer: 1) a=0

A pair of supplementary angles is

FT G 8-

swer: 1) 110°,70°

Answer: 1) 110°,70°

If the diagonal of a rhombus are 18 cm and 24 cm respectively, then its side is equal to

IS o farenuf crmr: 18 Tt 3R 24 et §, Y ITh! oST......... & SRR 8
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If two circle touches each other externally then number of common tangents lineis ___.

At A gal wt_ Ivafss Ry gidt 82

swer: 3) 3
Answer: 3) 3

The length of a rectangle is 1T cm more than its width and its perimeter is 14 cm, then the
rectangle is

a1 I e T 1 Tuft 3ifdep § oik gachy uRRfY 14 Teft €, It 3mad o1 &t &1

juare
juare
juare

juare
swer: 3) 12 cm square

Answer: 3) 12 cm square



https://applink.adda247.com/d/XhqWf9lSap

Adda7

The length of a given rectangle is increased by 20% and the breadth is decreased by 20%,
ra will be:-

ST I ATS H 20% ol gieg SR TS H 20% Y et HhY SATelt 8, It &t

the same
s by 5%

g
1s by 5%

T e
1s by 4%

g

swer: 4) decreases by 4%
e

Answer: 3) decreases by 5%

G

given figure, find the measure of ~I.
m of the measures of the I

angle of a triangle is 180°.

e & /11 719 §1d By . so°

o & A Bl B oAt e K
B0 B |
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swer: 1) 80°

Answer: 1) 80°

Median of data 3,7,2,11,4and 9 is.......

11,4 YT 9 T AL ......... &

swer: 2) 5.5

Answer: 2) 5.5

The ...... Can not be determined graphically.

T O =g} fAerTaTT ST Yehar
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these
?

swer: 1) Mean

Answer: 1) Mean

X, —10) = —10 and ¥i_,(x, - 46) = 17,
lueof nis ...

4(x; —50) = —10 TUT T, (x; — 46) =

swer: 2) 15

Answer: 2) 15

A+B
ngle cos (T) i

g £ a+R/N
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swer: 4)

Answer: 4)

g % then tanA-+cotA= —--

\=— il tanA+cotA=
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swer: 3)

Answer: 4)

1+tan@

these
B

swer: 1) 1
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Which of the following is not a herbicide?

[ WRUAR 11 (Mep-1sft / Herbicide) w81 8-

ange

swer: 3) VAM

Answer: 4) Agent orange

What would be to pH of a solution which turns red litmus blue?

T fetemg @t et R 2ar §, 39T pH T g 2

swer: 4) 10

Answer: 4) 10
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swer: 4) Rb

Answer: 4) Rb

The motion between the particles in a gaseous substance is .............

swer: 1) Random

Answer: 1) Random

Which of the following is surrounded by single-membrane?

"8 S Yehdl-fRieett & foRT gam 82
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dria

ast

swer: 1) Lysosome

Answer: 1) Lysosome

The ribosomes are centres (sites) for.

71 forg e (=) &

on

ynthesis
T

1thesis
)

thesis

I

swer: 2) Protein synthesis
T

Answer: 2) Protein synthesis
T

Which of is a non-biodegradable waste?

T IR-Safrfeofig smfe 82
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ste

&

swer: 3) Plastic

Answer: 3) Plastic

Digestion of food starts from which organ of the human digestive system?

M AT9d gTaH o o fhd ST ¥ % giar 8?

le to the presence of saliva

It < SROT g

gus that moves the food in the gut

TS ot Sffd & & STt 8

s that releases juices for fat breakdown

97 & geA & feg 9 stsdr 8

that helps in mixing food with digestive juices

& UTIeh T & 91 e | Aeg aar g

swer: 1) Mouth due to the presence of saliva

Tt & SROT g

Answer: 1) Mouth due to the presence of saliva

It < SROT g

Select the group which shares maximum number of common characters :-

GET IT ON
Google Play
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iduals of a same species
& ol s

iduals of a same genus
&t <gfh

iduals of a same order
Y eafh

iduals of a same family

at eafh

swer: 1) two individuals of a same species

& ol safh

Answer: 1) two individuals of a same species

& ol eafh

Which of the following could not be a unit of speed?

} SPIFT ISl BT ATSTeh 18] 8t TehdT 87

e

swer: 4) s/m
R

Answer: 4) s/m
X

The S | unit of Inertia is

5k & -
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swer: 1) kg

Answer: 1) kg

The buoyant force acting on the air-ship as it rises in the air will be...

T8 SR I WR I TR i ehed aTedl IcdTa &l ...

force is increases

T 8

force is decreases

%A I ST &

force is remains constant
R Eae

force first increases then decrease

I8t SedT & fhe gedr @

swer: 2) Buoyant force is decreases
A gl ST &

Answer: 1) Buoyant force is increases
e ©

The velocity of sound in a gas is 30 ms™ at 27°C . What is the velocity of sound in the

t127°C?

g & et o1 a1 30 Hiex/Tepvs €1 127° R 3 A9 & «afy o1 g ?
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swer: 4) 20v3 ms’’
Yevg

Answer: 4) 20v3 ms’’
Yevg

Which of the following is not natural resources?

AI UTepfcen S¥Te -Tgi 672

swer: 3) Town

Answer: 3) Town

Which is the percentage of carbon gas in the atmosphere in the earth?

o1 H ehre 719 bl AT feha= gidl &2
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Where was the Third earth summit held?

RI<T <hT STTATST Shgl fohaT AT ?

sburg

these
©

swer: 1) Johannesburg

Answer: 1) Johannesburg

Biogas is also known as

& am G oft ST SITaT 21

as

T gas

swer: 3) Gobar gas

Answer: 3) Gobar gas

GET IT ON
Google Play
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swer: 3) Black

Answer: 3) Black

1mA is equal to

HCIE

swer: 1) 10°A

Answer: 3) 107A

Jiled paper is

AgIT g
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ent

ent

these
?

swer: 3) Translucent

Answer: 3) Translucent

What was the immediate couse of world war one ?

T dTcehTielch ShIRUT SR T 2

(s chancellorship of Germany

HT ST AR AT

Kaiser william's rule

iferae ot QMEeh -1

ince of Austria murdered in sarajevo

RIST hl TRTSial & gT

submerged British ship Lusitania

fesr Stgret qEftart=an st gemar s

swer: 3) Crown prince of Austria murdered in sarajevo

RIST hl QRTSial & gT

Answer: 3) Crown prince of Austria murdered in sarajevo

RIST <hl TRTSial & gT

Sarhul is the festival of ?

w27
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swer: 1) Munda

Answer: 1) Munda

JN Secretary General heads which principal organ of the United Nations Organisation?

e HYh AY TS & ohd T i & U 82

Assembly
Council
¢ and Social Council

mmATfoieh TiReg,

etariat

swer: 4) The Secretariat

Answer: 1) General Assembly

Who strongly opposed the amalgamation of the Non-Cooperation Movement and the
vement?

Yo iy e anmtea &t e a7 o T Roter B B o2
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swer: 1) Jinnah

Answer: 1) Jinnah

In which country was paper invented?

e fohe a1 ga ?

swer: 1) China

Answer: 1) China

Which of the following is not a component of population growth?

“ehI ST gfg T e el & ?
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swer: 4) Sex Ratio

Answer: 4) Sex Ratio

Which of the following scales can be used to represent the distance of both kilometre and

Tt & gRT feet0 3R #fier 31T et gRaT anl =i ST HendT 872

:ale

scale

ft

1tative fraction
[

itive scale

el

swer: 4) Comparative scale

el

Answer: 4) Comparative scale

el

Which of the following is the commercial crop in India?

‘T AT e A O R e 22
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Se

swer: 4) All of these

Answer: 4) All of these

The Narmada Bachao Andolan is associated with

et et 8-

arovar Dam
iy
n

Jam

:agar Dam
B

swer: 1) Sardar Sarovar Dam
iy

Answer: 1) Sardar Sarovar Dam
iy

The Buxa Tiger Reserve in West Bengal is seriously threatened by the ongoing

f gorT TR Reid &l 91 @ iR @I gl
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ing
nining
IEC]

nining

ymining
=

swer: 4) Dolomite mining
=

Answer: 1) Coal mining

Which source of energy is non-renewable ?

id 3rdievofta g2

swer: 3) Coal

Answer: 3) Coal

Which among the following industries is not Agro-based ?

¥ I IET Y TR e T 22
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axtiles

tiles

swer: 2) Cement

Answer: 2) Cement

Coal belong to which type of resource ?

IR T GUTYT & ?

e

iewable

swer: 2) Non -renewable

Answer: 2) Non - renewable

Whose election is held in India by the single transferable vote system?

iehroft A g & TATa fhgent ghar 8-

GET IT ON
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t of India

fa

nister of India
it

commission

airperson
& arege

swer: 1) President of India

fa

Answer: 1) President of India

fa

Jnder which article is the fundamental right to education in the Indian Constitution?

T # fre a1 Hiferes StfeR ford argeee A 2

swer: 2) 21(A)

Answer: 2) 21(A)

Who is the leader of the majority party in the Lok Sabha?

gHd & el AT 1 gl 82
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nister

of the Lok Sabha
&1
sident

swer: 2) Prime Minister

Answer: 2) Prime Minister

Which of the following is not an instance of an exercise of a fundamental right?

91 Hifereh SAfARRT & IUANT T IaTE0T 61 67

from Bihar to go the Punjab to work on the farms.
i T USTIE & Wal § S e ST
missions set up a chain of missionary schools.
TR TR Shel hl 4%t TelrT
women government employees get the same salary.
t o afiRa ok 7S ot I\ da- e
yroperty is inherited by their children.
- 19 i Fufd formad & g

swer: 4) Parents property is inherited by their children.

- 91q bt Jufd formaa & urn

Answer: 4) Parents property is inherited by their children.

- 91q <kt Jufd formaa & urn

Which of the following is not function of the political Party?

"I - IT hRf ISTdeh &7 AT g1 & ?

GET IT ON
Google Play
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ipate in the election.
T

public opinion.

1ot ST

the Government
AT T

social and religious movements.

swer: 4) provoke social and religious movements.

Answer: 4) provoke social and religious movements.

Social problem means

T T A &

affairs

fa

proach to problem
- 3fereh gfeRor
problem

g7

oblem

&1

swer: 1) state of affairs

oy

Answer: 2) moral approach to problem

- 3fre g

A ... is adifficulty that carries within it an opportunity for progress?

F hiSTS & St 31U ofiaR TRIfA a7 SraeR Aehs 31Tt 272
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swer: 2) Challenge

Answer: 2) Challenge

Which tense is used to express an action completed in the immediate past?

:finite tense
ndefinite tense
erfect tense
‘ect tense

swer: 3) Present perfect tense

Answer: 3) Present perfect tense

Complete the sentence using appropriate option.

from the vacation just now.

rned
red
1 returning

swer: 1) Has returned

GET IT ON
Google Play
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Select the most appropriate option to change the sentence from direct speech to indirect

ipply for the job," he said.
t-—— apply for the job.

to

eto

swer: 1) She had to

Answer: 1) She had to

Select the most appropriate option to change the sentence from direct speech to indirect

“he concert ended yesterday"
atthe concert ................ the....oooevien.

ad/yesterday
1d/day before
2d/day after
coming day

swer: 2) had ended/day before

Answer: 2) had ended/day before

Pickout the Non finite verb/verbs in the sentence given below
hers have gone to the picnic together.



https://applink.adda247.com/d/XhqWf9lSap

Adda

24

Pick out the Non-Finite verbs in the given sentence
-the boys to stop playing.

playing
swer: 4) To stop, playing

Answer: 4) To stop, playing

Identify the Passive Voice of the given sentence
:d good news.

NS is expected.

NS were expected.

NS was expected.

NS were expected by you.

swer: 3) Good news was expected.

Answer: 3) Good news was expected.

Which punctuation mark is used to express sudden change in feelings or emotion?

n

tion mark

swer: 4) Exclamation mark

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap

Adda7

sentence

less important details
question

ate items in a list

swer: 4) To separate items in a list

Answer: 4) To separate items in a list

Fill up the blank, with the correct
sun gives us light ...................... the day.

swer: 1) During

Answer: 1) During

Fill up the blank, with the correct option
ave fallen ................this tree.

swer: 2) from

Answer: 2) from
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swer: 2) when

Answer: 2) when

Select the correct cohesive device to complete the sentence.
atch the television, you need to finish your work first

swer: 3) Before

Answer: 1) After

Select the alternative which best express the meaning of the idioms/phrase.
tters

ited man
gent person
person

an

swer: 3) A literary person

Answer: 3) A literary person

GET IT ON
Google Play
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ved sensation
ul achievement
utidea

acision

swer: 1) A short lived sensation

Answer: 1) A short lived sensation

Select the alternative which best express the meaning of the idioms/phrase.

from

> something
1t to

1to

swer: 2) Similar to something

Answer: 2) Similar to something

Choose the correct phrase from the given option and make a conditional sentence.
vould stay at home.

swer: 1) rained

Answer: 1) rained
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stop
stopped
ar, stop

ar, stopped

swer: 4) would hear, stopped

Answer: 1) will hear, stop

Fill up the blank with the correct option.
....me.

d
swer: 3) Likes

Answer: 3) Likes

Fill up the blank with the correct option. Dancing and singing .........art.

swer: 1) Are

Answer: 1) Are
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Choose the coorect option instead of the question mark in the given question.
jry ;- Water : ?
A gearach g o I W gt [dehedl al o |

O ?

swer: 1) Thursty

Answer: 1) Thursty

In the given number series what number will come in place of the question mark Symbol.
185,?
e | UHaTah g oh WM R & - 9 T s |

185,?
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Pawan walking 40 m. to wards south after that took a right turn and walked 20 m. He
a right turn and walked 40 m. Tell how far and in which direction is he from his starting

T AR 40 H10 Te1 & a1 SrRAT SR 7T 37k 20 H0 I | I8 G SR SR qT 37R 40 O T | Fand
TRfeYeR T ¢ fohat gt wR ofR fha feam & & 2

st

ast

rte

swer: 2) 20 m. West
Answer: 2) 20 m. West

What should come next in the given letter sequence?
ABCDABCDEABCD

g 3} T 31T =nfeu?
ABCDABCDEABCD

swer: 2) E
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If + means Add, X means Substract, then
)% (4+4)="
& SiteT, * o1 31ef § ",

«4)*(4+4)=2

swer: 1) 6

Answer: 1) 6

A number of friends decided to go on a picnic and planned to spend Rs. 96 on eatables.
1, however, did not turn up. As a consequence, the remaining ones had to contribute Rs. 4
The number of those who attended the picnic was

Yeh{Aeh TR STTH <hT ThaetT fonaT iR IUT Wl et hl TISTHT §-1S | @M <hl il U 96. S0 T IR Al
7, AT ART ht TUF T TNTET ST UST| 4 Tdeh SifafRh | fUesfes & anfaer g1 arerl & gz off
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Answer: 1) 8

llue replaces “?" in the below figure ?

m I Ry F #F gwE o wr ufaeufg w@r &2

36 38
> 15 3 @ 9 1[1@ 20
9 19
B) 3 C) 2 D)1

\) is Correct

ee

3) is Correct

eg

>) is Correct

e

)) is Correct

GH

swer: 4) Option (D) is Correct

e

Answer: 4) Option (D) is Correct

e

choose which pair of numbers comes next
433661 --

It < gt 3wt STt 8
4336 61 --
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swer: 2) 2922
Answer: 2) 29 22

Raman ranks sixteenth from the top and forty ninth from the bottom in a class. How many
e there in the class ?

H FWR Y Giddgd iR A T dareha § = R 21 hem d fhaq a1 872

e determined
T ST YehdT &

swer: 1) 64

Answer: 1) 64
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Instruction for Question

re the qualifications for the post of manager in a leading private company.

ate must -

BA degree holder with at least 60% marks.

:ss than 24 years and not more than 30 years as on 1-1-2016.

ssed the selection test with at least 65% marks.

g to pay a deposit of 25,000 rupees which is refundable after a year.

a candidate fulfills the above mentioned criteria except -

ve, but is an M.com degree holder with 65% marks, the case will be referred to the Vice-
of the company.

ove, but has an experience of 2 years, the case may be referred to the General Manager of
.

- Pradeep is a 28 year old boy and has completed MBA with 75%. He has scored 70% in
n test and can give 25000 rupees to the company.

f} st & gdere & e & forg givgad fRmfeafed €19 - 9 @ &1 60% 3ichl & aryr tHeT 3Tt are

6 ot 24 a9 T &y 3R 30 g T 31fdes g g1 =Rl

ThH ¥ T 65% 3ichi o T IO T gl

T Y STHT AFA BT AT e & folg SR T St Tep aef & a1 aruedt o &1

AR 65% ikl & T1T M.com 3Tt &Rek &, dt ATHe Ut & Vice-President & Ui 9T SITQT|
R, cifche 2 AT T TG &, ATHAT Shu-T oh AGTIEech chl HSIT ST HhdT &

3 GTeT T ASHI g 3R 39+ 75% o Iq1F MBA fohar g1 3517 fAetar™ ¢ & 70% AR fohar g 8k
)00 ¥0A ¢ Tehd g

didate is to be selected.

&1 T foRaT ST 81

se is to be referred to the general manager.
TSI eIch bl Wl ST &

se is to be referred to the Vice-President .
TTeTeT ohl AT ST &1

a provided is insufficient to take any decision.

T 7T 2T ahis Aol @ & forg sl &1

swer: 1) If the candidate is to be selected.
1 99 fohar ST 81

Answer: 1) If the candidate is to be selected.
&1 97 fhar ST 81
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